Serles

Non-self-priming mechanical seal pump

Serles

Self-priming mechanical seal pump /_;—K

World Chemical Co.,Ltd.




GSM Serles Non-self-priming mechanical seal pump

< Model description >

y0-2500GSM1-GP-SD51

< Outline drawing >

® L

@G@’P/@?

Dis. bore Motor output Model Motor type Main material Frequency

25: 25A 00 : 0.4kW GSM (F) : Non- 1:1E1 GP : GFR PP 5:50Hz

40 : 40A 01: 0.75kW self-priming  3:IE3 CF : CFRETFE 6: 60Hz

50 : 50A 02 : 1.5kW
Seal material O-ring S.G.
S : Standard (Carbon) D:FPM 1:11
H : Screw type (PTFE) % Please consult

with us regarding S.G.

other than above.

< Standard specification >

L AN

| TEITNNNN

< Dimension >

(mm)
Model A B C D E F G H | J K
2500GSM (F) 1 130 160 18 255 70 325 167 301.5 130 ®12 559.5
4001GSM (F) 3 130 160 18 276 84 360 190 332 130 ®12 619
4002GSM (F) 3 208 260 20 296 93 389 206 883 200 36-14 667
Seal case set S
(@+@+@+(®)

< Exploded view >

2 . A L/mi q Resistat
—_— Bore (mm) Performance: Total head - Capacity (m-L/min) i P(T(“v(,e)r w(eklg)ht o
Suction  Discharge 50/60Hz Y (°C)
YD - 2500GSM (F) 1 25 25 8-40 1.1 0.4 18.5 50
YD - 4001GSM (F) 3 40 40 8-110 1.1 0.75 122.5 50
YD - 4002GSM (F) 3 50 40 10-200 1.1 1.5 29 50
< Performance curve >
(S.G.1.1) (S.G.1.1)
20 20
= S —
\ \
b e L e Ay 40— —
'% 10 ~_ ~_ '% 10 \\ U
N Shoas N T
™N 2500Gsm 1001GSM ~N 2500Gsm  4001Gsm  4002GSM
0 100 200 300 400 500 0 100 200 300 ‘ 400 ‘ 500
Capacity (L/min) Capacity (L/min)
< Use> Itis suitable to transfer waste liquid with a few slurry!
@ For waste liquid @ To transfer liquid to a balancing tank or final treatment tank
o e o A
e Feature of Non-self-priming mechanical seal pump “GSM (F)” A

Our mechanical seal pump (S series) usde for 30 and over years is full-model changed for easier-to-use.

Our original mechanical seal without outer cooling water is adopted and it is possible to select the material of the

wet parts kit depending on chemical liquid.
The cose and lead time are reduced by sharing the parts for our manget drive pump (GS series).

D The open type impeller is adopted and suitable to transfer waste liquid with a few slurry.

D The periodical maintenance of the sealing parts brings you continued satisfaction.

D Itis possible to select the material of the casing and mechanical seal according to liquid.

Structure of mechanical seal

< Parts list >
P Material | P Material |
No. art name GSM GSMEF Qty No. art name GSM GSMF Q'ty
O) Motor with bracket FC200-+Aluminum frame motor 1 ® Rear casing support FC200 1
@) Pump shaft SUS306 1 Hex. socket head cap bolt SUS304 (M6*12) 6
® Key SUS316 2 (@) Phragm Acid-proof fluoro-rubber 1
@ Slit collar S35C 1 Spring Hastelloy 1
® Shaft sleeve HT. PVC 1 Impeller HT.PVC 1
® O-ring for shaft sleeve FPM 1 Impeller nut HT.PVC 1
Back cover PVC 1 @ O-ring for impeller nut FPM 1
[©) O-ring for back cover FPM 1 @ Front casing GFR PP CFR ETFE 1
Seal case Diallyphthalate/HT. PVC 1 ® Lap joint GFR PP CFR ETFE 2
(@) Hex. bolt (SW, W) SUS304(M8*20) 4 Loose flange (JIS10K) GFR PP GFR PP(Black) 2
@ Rotating ring Alumina ceramics 1 @ O-ring for lap joint FPM 2
® O-ring for rotating ring FPM 1 Hex. bolt (SW, W) SUS304(M8*60/85) 8
Stationary ring Carbon/PTFE 1 3  Pump base GFR PP 1

@ Front casing set
(2+@+@+®)

Impeller set
(©9+@+@))




GVM Se rl eS Self-priming mechanical seal pump

< Model description >

yD-2500GVM1-GP-5D51

Dis. bore Motor output Model Motor type ~ Mainmaterial Frequency
25: 25A 00 : 0.4kW GVM(F) : Self-priming 1 :1E1 GP: GFRPP 5: 50Hz
40 : 40A 01:0.75kW 3:1E3 CF : CFRETFE 6 : 60Hz
50 : 50A 02 : 1.5kW
Seal material  O-ring material S.G.

D:FPM 1:11

% Please consult

S : Standard (Carbon)
H : Screw type (PTFE)

with us regarding S.G.

other than above.

< Standard specification >

Bore (mm) Performance: Total head-Capacity (m_L/min) Power Weight Resistat
Model - - 5.G. (KW) (k)  temparature
Suction  Discharge 50/60Hz °C)
YD - 2500GVM (F) 1 25 25 8-40 1.1 0.4 18.5 50
YD - 4001GVM (F) 3 40 40 8-110 1.1 0.75 22.5 50
YD - 4002GVM (F) 3 50 40 10-200 1.1 1.5 29 50
< Performance curve >
sG se
20 20
\\\‘ —~
= ~ — —
Z 10~ o \\\\\
) \\ ~ % \ N
2500GVM 2500GVM
0 100 200 300 400 500 0 100 2(;0 300 400 500
Capacity (L/min) Capacity (L/min)
< Use> Itis suitable to transfer waste liquid with a few slurry!
@ For waste liquid @ To transfer liquid to a balancing tank or final treatment tank
| o o o A
e Feature of Self-priming mechanical seal pump “GVM (F)” R

Our mechanical seal pump (SV series) usde for 30 and over years is full-model changed for easier-to-use.

Our original mechanical seal without outer cooling water is adopted and it is possible to select the material of the
wet parts kit depending on chemical liquid.

The cose and lead time are reduced by sharing the parts for our manget drive pump (GV series).

D The open type impeller is adopted and suitable to transfer waste liquid with a few slurry.
Y The periodical maintenance of the sealing parts brings you continued satisfaction.
® ltis possible to select the material of the casing and mechanical seal according to liquid.

) GVM(F) series always remain self-priming water in it.
It has the self-priming ability to pump liquid up from a pit. (Maximum 3.5m)

< Outline drawing >

A\ o

3 14
27)M16) (10Y017) (13) (18) (15) (19

T

11

= :

< Dimension >

Model A
2500GVM (F) 1 130
4001GVM (F) 3 130
5002GVM (F) 3 208

< Exploded view >

Seal case

Structure of mechanical seal

< Parts list >

=
S

Part name

Motor with bracket
Pump shaft

Key

Slit collar

Shaft sleeve

O-ring for shaft sleeve
Back cover

O-ring for back cover
Hex. bolt (with SW, W)
Seal case

Hex. bolt (with SW, W)
Rotating ring

O-ring for rotating ring
Stationary ring

Rear casing support
Hex. socket head cap bolt
Phragm

Spring

Impeller

Impeller nut

O-ring for impeller nut

BESEGEGROASEGRCRSIGIGISIGICIOIOICICIOIONS)!

a
B C D
160 18 255
160 18 276
260 20 296
@) Casing set

(@+®+@+w)

Material
GVM GVMF
FC200-+Aluminum frame motor
SUS304
SUS316
S35C
HT.PVC
FPM
PVC
FPM
SUS304(M8*50)
Diallyphthalate/HT. PVC
SUS304(M8*20)
Alumina ceramics
FPM
Carbon/PTFE
FC200
SUS304(M8*12)
Acid-proof fluoro-rubber
Hastelloy
HT. PVC
HT.PVC
FPM

e - — - — - @ +—-—
Emvaga——
)
T R e
W] | 4-)

Abbbbbbbbubbd
E F G H | J
70 325 167 301.5 130 ®12
84 360 190 332 130 ®12
93 389 206 333 200 36-14

Impeller set
(@+@)+@)

(@©+69)

Part name

=]
G

<

=
o

Suction casing

Discharge casing

Separating board

Center packing

Perforated plate

Lap joint

Loose flange (JIS10K)

O-ring for lap joint

Priming water plug

Drain plug

O-ring for priming water plug
O-ring for drain plug

O-ring for inclusion

Hex. socket head cap bolt(SW,w)
Hex. socket head cap bolt(SW,w)
Stud bold (SW, W, Nut)

Ring holder

Base

Base biscuit

Hex. socket head cap bolt(SW,w)

POV R®OIR®®®

Material
GVM GVMF

GFR PP CFR ETFE
GFR PP CFR ETFE
GFR PP CFR ETFE
FPM
GFR PP CFR ETFE
GFR PP CFR ETFE
GFR PP CFR ETFE
FPM
GFR PP CFR ETFE
GFR PP CFR ETFE
FPM
FPM
FPM
SUS304 (M8*25)
SUS304 (M8*35)
SUS304
HT.PVC
CFR ETFE
FC200
SUS304 (M8*35)

GFR PP

(mm)
K
559.5
619
667

Ie)
o] ola =] r o] = 2] =[] =
© <

SRS P RN Y N S



GSM /GVM series

GSM / GVM series

B Operational precautions

1) Prohibition of dry running

The mechanical seal is cooled by circulation of the pumped liquid.

If the pump is operated without liquid inside, it may be damaged by evolution of heat.

By any chance, when the pump run dry, do not pour liquid into and leave it for more than 1 hour.

If liuqid suddenly goes inside, the heated sliding parts may be damaged by rapidly cooled and beyond repair.

2 ) Temperature range of liquid in use

The liquid’s vapor pressure, consistency or corrosivity are changed depending on the liquid temperautre.
By the consideration of them, use the pump with enough performance.

® Temperature range of liquid in use: 0~50°C

3 ) Intermittent operation

Start/stop the pump 6 times or less per hour.
More frequent operation may cause the motor and pump failure by the load to them.

4 ) Minimum flow rate

Operate the pump that the capacity is over the figure as follows.

Model Operational min. flow rate
2500 +4001GSM/GVM 10L/min
4002GSM/5002GVM 20L/min

B Other precautions

H Install a strainer at the sucion pipe to prevent large dust or foreign objects being mixed into.
However, clean the strainer periodically to minimize loss resistance.

H It is recommended to install a check valve on the rising pipe at the discharge side to prevent water
hammer at time like follows. Additionally, install a bypass pipe for air release underneath.

® The discharge pipe is long and the head is 10m and more.
® The end of the discharge pipe is set 9m and more higher than the liquid level in the suction tank.
@ The piping condition is that 2 and more pumps are set in parallel.

H Install bending parts or expansion joints not to leak liquid by the pump deformation from heat expansion
due to the liquid temperature.

M Do not impact the pump because the main inside parts are made of plastic.

Prohibition of uneven and overtightening (GSM/GVM series both)

H Align the surface of the piping flange with the pump flange and do not tighten bolts too much.

M Match the installation dimensions. If not, the pump casing may be damaged. Uneven tightening causes
the liquid leakage from the packing, so tighten bolts diagonally and evenly.

Prohibition of loading piping (GSM/GVM series both)

H Completely recieve the piping load with the piping support.

Ml If the liquid temperature is high (40°C and more), install bendings and expansion joints to the piping not
to apply a load by heat expansion of pipes.

M Prevent to use metal pipes as much as possible and use plastic ones.

Bl Installing / piping precautions B Example of piping

GSM series GSM series GVM series

H If a large amount of air goes into during operation, it may cause the pump damage by pumping failure.
@ Set the suction inlet of the pump 50cm and over the liquid surface.

® Do not make air pocket in the piping nor install the piping up and down.

@ Install the piping to the pump on the 1/100 and over up grade.

@ Use the same size pipinge at the suction side. If different, make the top level by using the eccentric
one-sided pipe.

GVM series

Ml If air goes into the piping joint, pumping failure occurs and causes the pump damage.

@ It is the state of the negative pressure in the piping at the time of the self-priming operation. If air goes
into for the piping joint failure, liquid does not go into and the pump may be damaged becasue of pump-
ing failure.

@ Use the suction pipe whose size is the same as the suction bore of the pump.

If the piping is bigger than the pump’s size, the self-priming ability may be reduced and failure.

@ Set that the OFF level, which is between the end of the suction pipe to liquid surface, is more than
double than the suction pipe bore. If it is operated less than this, it causes dry running by mixing up the
air.

Discharge piping
l Sluice valve
// Piping support

' ) Discharge piping
Suction pipe Priming water/air release 4 =
T || Sluice valve

Piping support

t Pressure
Sluice valve: gauge : .
— 5 | Air release piping

NN

Check valve

% \ Sluice valve
” i Pressure gauge
¢ e —
: ; “Check valve "~
. Sluice valve
zl'usﬂln =T > Pressure
——— 1| discharge piping -— Suction _gauge
= 4 Sluice valve Vacuum gauge "/ PIPINg s Expansion joint
= Flushing M gauge T 7 T EXpansic
E suction’piping == ~ Expa \ /
£ | Suction — 7T \
2| |piping  Sluice | g
wl | valve
= 1,
— | 5
Lk ! \ i
I /X(/////// 7 ( LS S
«._Piping support “.Drain ditch /"'----.._}_‘Piping support . Drain ditch
— v
I
<
1IN
Fr77 ///




Comprehensive Manufacturer of Environmental Equipment
Challenging the Liquid Transfer Technology,

World Chemical Co.,Ltd.

URL http://ww w.wcc.co.jp/en

E-mail overseaschemical@wcc.co.jp

Head Office
3F., ANTEX24, 1-1-14, Taito,
Taito-ku, Tokyo, 110-0016 Japan

@81-3(5818)5130 @81-3(5818)5131

Domestic sales department

2 81-3(5818)5130 D 81-3(5818)5131
Overseas sales department

o 81-3(5818)5134 Em 81-3(5818)5131

Nagoya Office
4F., DAIEI Bldg., 1-11-20, Nishiki, Naka-ku, Nagoya-shi,
Aichi, 460-0003 Japan
2 81-52(253)8426 En 81-52(253)8436
Osaka Office
3F,, KOTANI Park Bldg., 1-19-25, Edobori, Nishi-ku, Oasaka-shi, Osaka
550-0002 Japan
2 81-6(6467)8565 @D 81-6(6467)8566
Fukuoka Office

5F., SUNLIFE 3rd Bldg., 2-5-19, Hakataekihigashi, Hakata-ku, Fukuoka-shi,

Fukuoka, 812-0013 Japan
2 81-92(287)9128 0 81-6(6467)8566 (Osaka)

Tsukuba Factory

6127-5, Onogo-machi, Joso-shi,
Ibaraki, 300-2521 Japan

81-297(24)1071 EN81-297(24)1075
Service Center
6127-5, Onogo-machi, Joso-shi,
Ibaraki, 300-2521 Japan
2 81-297(24)1071 81-297(24)1075

BEERSRERAERAR

Worchemi Taiwan Co., Ltd.

SRR LR 915 57

NO.915, Zhongshan Rd., Shengang Dist.,

Taichung City 42955, Taiwan
2 886-4-2562-8358 I} 886-4-2562-8351
URL http://www.worldchemical.com.tw
E-mail worchemi@ms34.hinet.net

World Chemical USA, Inc.

25691 Atlantic Ocean Dr. Unit B-15, Lake Forest, CA 92630, USA.
B 1-949-462-0900/ 888-860-3364
1-949-462-0999
URL http://www.worldchemicalusa.com
E-mail wca@worldchemicalusa.com

BMNEMSRRERLR

Suzhou World Technology Co.,Ltd.

TEHA BN ERREX E 84025

402, Fu Yuan Road, Xiang Cheng, Economic District., Su Zhou, China
D 86-512-6579-8212 [{M 86-512-6579-8215
URL http://www.worldchemical.com.cn
E-mail worldchemical@wcs.szbnet.com

HENote:

@The contents are subject to change without notice. ~ @The catalogue is issued in April, 2020.

VEGETABLE
©IL INK



